Journal of Number Theory 130 (2010) 580-585



Contents lists available at ScienceDirect

Journal of Number Theory

www.elsevier.com/locate/jnt



Miroslawa Jańczak, Tomasz Schoen*

Department of Discrete Mathematics, Faculty of Mathematics and Computer Science, Adam Mickiewicz University, Poznań, Poland

ARTICLE INFO

Article history: Received 8 October 2008 Available online 11 November 2009 Communicated by Ronald Graham

Keywords: Asymptotic bases Additive number theory

ABSTRACT

We call a set *A* of positive integers an asymptotic basis of order *h* if every sufficiently large integer *n* can be written as a sum of *h* elements of *A*. If no proper subset of *A* is an asymptotic basis of order *h*, then *A* is a minimal asymptotic basis of that order. Erdős and Nathanson showed that for every $h \ge 2$ there exists a minimal asymptotic basis *A* of order *h* with d(A) = 1/h, where d(A) denotes the density of *A*. Erdős and Nathanson asked whether it is possible to strengthen their result by deciding on the existence of a minimal asymptotic bases of order $h \ge 2$ such that A(k) = k/h + O(1). Moreover, they asked if there exists a minimal asymptotic basis with $\limsup(a_{i+1} - a_i) = 3$. In this paper we answer these questions in the affirmative by constructing a minimal asymptotic basis *A* of order 2 fulfilling a very restrictive condition

$$\frac{1}{2}k \leqslant A(k) \leqslant \frac{1}{2}k + 1.$$

© 2009 Elsevier Inc. All rights reserved.

1. Introduction

A set A of positive integers is an asymptotic basis of order h if every sufficiently large integer n can be written as a sum of h elements of A. If A is an asymptotic basis of order h and no proper subset of A has this property then A is a minimal asymptotic basis of that order. Hence, for every element a of a minimal asymptotic basis A of order h there are infinitely many positive integers n, each of whose representations as a sum of h elements of A includes a as a summand.

 * The authors are supported by MNSW grants N N201 391837 and 1 P03A 029 30, respectively.

* Corresponding author. E-mail addresses: mjanczak@amu.edu.pl (M. Jańczak), schoen@amu.edu.pl (T. Schoen).

0022-314X/\$ – see front matter @ 2009 Elsevier Inc. All rights reserved. doi:10.1016/j.jnt.2009.09.010

Put $A(k) = |\{a \in A: 1 \leq a \leq k\}|$. The lower density of A is defined by

$$\underline{\mathbf{d}}(A) = \liminf_{k \to \infty} \frac{A(k)}{k}.$$

If the limit $\lim_{k\to\infty} A(k)/k$ exists, then it is called the density of A and denoted by d(A). Nathanson and Sárközy [2] proved that if A is a minimal asymptotic basis of order h then $\underline{d}(A) \leq 1/h$. Erdős and Nathanson [1] showed that for all $\alpha \in (0, 1/(2h - 2))$ there exists a minimal asymptotic basis A of order h with $d(A) = \alpha$. They also proved that for every $h \ge 2$ there exists a minimal asymptotic basis A of order h with d(A) = 1/h. Erdős and Nathanson [1] asked whether it is possible to strengthen their result by deciding on the existence of a minimal asymptotic bases of order $h \ge 2$ such that

$$A(k) = k/h + O(1).$$
(1)

It is easy to see that there are no minimal asymptotic bases $A = (a_i)_{i=1}^{\infty}$ of order 2 with $\limsup(a_{i+1} - a_i) = 2$. The set constructed in [1] satisfies $\limsup(a_{i+1} - a_i) = 4$. Thus, Erdős and Nathanson asked if there exists a minimal asymptotic basis with

$$\limsup(a_{i+1} - a_i) = 3.$$
 (2)

The object of this paper is to prove construct a minimal asymptotic basis A of order 2 fulfilling a very restrictive condition

$$\frac{1}{2}k \leqslant A(k) \leqslant \frac{1}{2}k + 1.$$

Clearly, this basis satisfies (2) and (1) in the case h = 2. As we also remark at the end of the note our example is, in a way, best possible.

2. A construction of a dense minimal basis

The main result of this note can be stated as follows.

Theorem 1. There exists a minimal asymptotic basis A of order 2 such that for every $k \in \mathbb{N}$

$$\frac{1}{2}k \leqslant A(k) \leqslant \frac{1}{2}k + 1.$$
(3)

Proof. Let $(t_n)_{n \ge 0}$ be the sequence such that $t_0 = 7$ and

$$t_{n+1} = 3t_n + 4$$
,

so $t_n = 3^{n+2} - 2$. We shall construct inductively a sequence of sets $(A_n)_{n \ge 0}$, $A_n = \{a_1, \ldots, a_{m_n}\}$ such that $m_n \ge n$ and for $n \ge 0$

$$A_n \subseteq [t_n], \quad t_n \in A_n, \tag{4}$$

$$\{6,\ldots,t_n\}\subseteq A_n+A_n,\tag{5}$$

$$\frac{1}{2}k \leqslant A_n(k) \leqslant \frac{1}{2}k + 1 \quad \text{for every } k \in [t_n], \tag{6}$$

$$A_n(t_n) = \frac{1}{2}t_n + \frac{1}{2},\tag{7}$$

and for $n \ge 0$, $t_n - 2$ has a unique representation in $A_n + A_n$ and this representation is of the form $t_n - 2 = b_n + a$, where $a \in A_n$ and $\{b_n\}_{n \in \mathbb{N}}$ is defined as follows

$$b_1 = a_1,$$

 $b_2 = a_1, b_3 = a_2,$
 $b_4 = a_1, b_5 = a_2, b_6 = a_3,$
....
(8)

Observe that $b_n = a_i$ with $i \leq m_{n-1}$, so in the *n*th step the element b_n has been already defined and $b_n \leq t_{n-1}$.

We start with $A_0 = \{1, 2, 5, 7\}$, $t_0 = 7$. Clearly the conditions (4)–(7) are satisfied. Assume now that for some $n \ge 0$, A_n has been already defined and it satisfies (4)–(7).

We put

$$A'_{n+1} = A_n \cup C_n \cup D_n \cup \{t_{n+1} - 2, t_{n+1}\},\$$

where

$$C_n = \{t_n + 1, t_n + 3, \dots, 2t_n\},\$$
$$D_n = \{d \in [2t_n + 1, t_{n+1} - 3]: t_{n+1} - 2 - d \notin A_n\}$$

We will show now that

$$[6, t_{n+1}] \setminus \{t_{n+1} - 2\} \subseteq A'_{n+1} + A'_{n+1}$$
(9)

and

$$t_{n+1} - 2 \notin A'_{n+1} + A'_{n+1}. \tag{10}$$

By (5) we have

$$[6, t_n] \subseteq A_n + A_n \subseteq A'_{n+1} + A'_{n+1}.$$

Since $1, 2, t_n \in A_n$ it follows that $t_n + 1 \in A'_{n+1} + A'_{n+1}$ and for all $l \in \{1, 3, \dots, t_n\}$

$$(t_n + l) + 1, (t_n + l) + 2 \in C_n + A_n \subseteq A'_{n+1} + A'_{n+1},$$

so $[t_n + 1, 2t_n + 2] \subseteq A'_{n+1} + A'_{n+1}$, and

$$t_n + (t_n + l), (t_n + 1) + (t_n + l) \in A'_{n+1} + A'_{n+1}$$

so $[2t_n + 1, 3t_n + 1] \subseteq A'_{n+1} + A'_{n+1}$. Notice that $t_{n+1} - 1 = 1 + (t_{n+1} - 2)$ and $t_{n+1} = 2 + (t_{n+1} - 2)$, so $t_{n+1} - 1$, $t_{n+1} \in A'_{n+1} + A'_{n+1}$. Observe that

$$t_{n+1} - 2 \notin A'_{n+1} + A'_{n+1}.$$

Indeed, by the definition of D_n it follows that $t_{n+1} - 2 \notin A_n + D_n$ and $t_{n+1} - 2 \in C_n + C_n$ is impossible because $t_{n+1} - 2$ is an odd number while all elements of $C_n + C_n$ are even.

We will prove that the counting function of the set A'_{n+1} satisfies (6) and (7). By $A'_{n+1} \cap [t_n] = A_n$, we have

$$A_{n+1}'(k) = A_n(k),$$

so A'_{n+1} fulfills (6) for all $k \in [1, t_n]$ by the inductional assumption. Since $t_n + l \in A'_{n+1}$ and $t_n + l + 1 \notin I$ A'_{n+1} for odd $l \in \{1, ..., t_n\}$ and (7), so

$$A'_{n+1}(t_n+l) = \frac{1}{2}(t_n+l) + 1$$

and

$$A'_{n+1}(t_n+l+1) = \frac{1}{2}(t_n+l) + \frac{1}{2}.$$

Let $l \in [1, t_n + 1]$, so that $2t_n + 1 \le t_{n+1} - 2 - l \le 3t_n + 1 = t_{n+1} - 3$. We have $A'_{n+1}(l) = \frac{1}{2}l + C$, where $0 \leq C \leq 1$, therefore

$$\begin{aligned} A'_{n+1}(t_{n+1}-2-l) &= A'_{n+1}(2t_n) + D_n(t_{n+1}-2-l) \\ &= t_n + 1 + \left(t_n + 1 - (l-1) - \left(A'_{n+1}(t_n+1) - A'_{n+1}(l-1)\right)\right) \\ &= t_n + 1 + \left(t_n + 2 - l - \left(\frac{1}{2}(t_n+1) + 1 - \frac{1}{2}(l-1) - C\right)\right) \\ &= \frac{1}{2}(t_{n+1}-2-l) + C. \end{aligned}$$

Note also that

$$\begin{aligned} A'_{n+1}(t_{n+1}-2) &= t_n + 1 + A'_{n+1}(2t_n) - A'_{n+1}(t_n+1) + 1 \\ &= 2t_n + 3 - \frac{1}{2}(t_n+1) - 1 \\ &= \frac{1}{2}(t_{n+1}-2) + \frac{1}{2}. \end{aligned}$$

Finally, since $t_{n+1} - 1 \notin A'_{n+1}, t_{n+1} \in A'_{n+1}$ we have

$$A'_{n+1}(t_{n+1}-1) = \frac{1}{2}(t_{n+1}-1),$$
$$A'_{n+1}(t_{n+1}) = \frac{1}{2}t_{n+1} + \frac{1}{2}.$$

Thus, A'_{n+1} satisfies (6) and (7). Observe that $t_{n+1} - 2 - b_{n+1} \notin A'_{n+1}$. Now we can define the set A_{n+1} and prove that the number $t_{n+1} - 2$ has unique representation in $A_{n+1} + A_{n+1}$ in the form $t_{n+1} - 2 = b_{n+1} + a$, for some $a \in A_{n+1}$. Put

$$A_{n+1} = A'_{n+1} \cup \{t_{n+1} - 2 - b_{n+1}\} \setminus \{r_{n+1}\},\$$

where b_{n+1} is an element of the sequence (8) and $r_{n+1} \in A'_{n+1}$ is chosen as follows. If $A'_{n+1}(t_{n+1} - 2 - b_{n+1} - 1) = \frac{1}{2}(t_{n+1} - 2 - b_{n+1} - 1) + 1$, then $t_{n+1} - 2 - b_{n+1} - 1 \in A'_{n+1}$ and we define

$$r_{n+1} = t_{n+1} - 2 - b_{n+1} - 1.$$
(11)

However, if $A'_{n+1}(t_{n+1}-2-b_{n+1}-1) = \frac{1}{2}(t_{n+1}-2-b_{n+1}-1) + \frac{1}{2}$, then we put

$$r_{n+1} = t_{n+1} - 2 - b_{n+1} + 1.$$
(12)

Notice, that $A'_{n+1}(t_{n+1}-2-b_{n+1}-1) = \frac{1}{2}(t_{n+1}-2-b_{n+1}-1)$ is not possible because we would have $A'_{n+1}(t_{n+1}-2-b_{n+1}) = \frac{1}{2}(t_{n+1}-2-b_{n+1}) - \frac{1}{2}$, which contradicts (6). Observe that

$$[6, t_{n+1}] \subseteq A_{n+1} + A_{n+1},$$

because every number from $[t_n, t_{n+1} - 3]$ is a sum of two elements of A'_{n+1} less or equal $2t_n$, and $b_{n+1} \leq t_n$, so $r_{n+1} > 2t_n$. Moreover

$$t_{n+1} - 2 = b_{n+1} + (t_{n+1} - 2 - b_{n+1}),$$

$$t_{n+1} - 1 = 2t_n + (t_n + 3),$$

$$t_{n+1} = (t_{n+1} - 2) + 2.$$

To finish the proof we have to show that the counting function of the set A_{n+1} satisfies (6) and (7). If r_{n+1} is defined by (11), then $A'_{n+1}(t_{n+1}-2-b_{n+1}-1) = \frac{1}{2}(t_{n+1}-2-b_{n+1}-1) + 1$, whence

$$A_{n+1}(r_{n+1}) = A'_{n+1}(r_{n+1}) - 1 = \frac{1}{2}r_{n+1}$$

and

$$\frac{1}{2}k \leqslant A_{n+1}(k) = A'_{n+1}(k) \leqslant \frac{1}{2}k + 1,$$

for every $k < r_{n+1}$ or $k \ge r_{n+1} + 1$. In particular

$$A_{n+1}(t_{n+1}) = \frac{1}{2}t_{n+1} + \frac{1}{2}.$$

In the second case (12) we have $A'_{n+1}(t_{n+1}-2-b_{n+1}-1) = \frac{1}{2}(t_{n+1}-2-b_{n+1}-1) + \frac{1}{2}$. Then for each $k \leq r_{n+1} - 2$ or $k \geq r_{n+1}$ one has

$$\frac{1}{2}k \leqslant A_{n+1}(k) = A'_{n+1}(k) \leqslant \frac{1}{2}k + 1.$$

Furthermore, by (12)

$$A_{n+1}(t_{n+1}-2-b_{n+1}) = A'_{n+1}(t_{n+1}-2-b_{n+1}) + 1 = \frac{1}{2}(t_{n+1}-2-b_{n+1}) + 1.$$

Now, let us set

$$A = \bigcup_{n=1}^{\infty} A_n.$$

Clearly, by (5) *A* is an asymptotic basis of \mathbb{N} . Moreover, by $A_{n+1} \cap [t_n] = A_n$ for every $n \ge 0$, and (6), *A* satisfies (3). To see that *A* is a minimal basis, observe that every element $a \in A$ occurs in the sequence $\{b_n\}_{n \in \mathbb{N}}$ infinitely many times. Therefore, there are infinitely many *n*'s such that the number $t_n - 2$ has unique representation in A + A, which includes *a* as a summand. This completes the proof of Theorem 1. \Box

Finally, let us remark that the lower bound for A(k) in (3) cannot be increased, i.e. no minimal basis A satisfies

$$\frac{1}{2}k + \frac{1}{2} \leqslant A(k) \leqslant \frac{1}{2}k + C$$

for every sufficiently large $k \in \mathbb{N}$, where C is a positive constant. Indeed, let m be a positive integer such that

$$A(m) = \frac{m}{2} + C$$

and let $a \in A$, a > m. Since A is a minimal basis, so there are infinitely many numbers u > a + m such that for some $b \in A$, a + b is the unique representation of u in A + A. Since u has a unique representation and a, b > m, the sets $u - (A \cap [m])$ and $A \cap [u - m, u - 1]$ are disjoint, so

$$\left|A\cap[u-m,u-1]\right|\leqslant m-A(m)=\frac{m}{2}-C.$$

Thus

$$A(u-1) \leqslant A(u-m-1) + \left| A \cap [u-m,u-1] \right| \leqslant \frac{u-1}{2}.$$

References

[1] P. Erdős, M. Nathanson, Minimal asymptotic bases with prescribed densities, Illinois J. Math. 32 (1988) 562-574.

[2] M. Nathanson, A. Sárközy, On the maximum density of minimal asymptotic bases, Proc. Amer. Math. Soc. 105 (1989) 31-33.